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S 2RRAL
M X ABARAIY(H2A/2AAR)
SOl BAL,BAXL 2L CERCE
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Egﬁ HwsZ
O3. A& ZHIS X bl 24,874
~BAFBAIAY SXSLHH| 450,008 122 5,400
~®ADID] SR 1,300,0002 1,300
-2AL IPE SRS 2,000,0002 2,000
~ASRX LI 16, 174
PAL 2,086 %3,443 0.9 6,464
BAXIA (AR, &) 4,7528%416m 0.9 1,780
CEATA (2, B IIH,IIZ ER)
2,086 +2,067 0.9 3,881
CEATBA(120H4) 4,17421%970m 4,049
206 TH2HI 1,500 1,290 210
01 Ml 1,500 1,290 210
OXZ4+2 HELH %ALY 700
-~ EH 6,000 *10% +53] 300
-~ 7 H 8,000 +10% +53] 400
OZXZ4+2 L TOAMS HI27Y
8,000 +50 T 23| 800
401 N EHIL20H] 60,000 43,000 17,000
01 A&l 60,000 43,000 17,000
OS24 CCTVAIAE SX  8,000,0008 *14! 8,000
BAL JIPAIL 23 L B4
5,000,000 *14! 15,000
OBAL FUE ZHYXE ASH &X
4,000,000 *14! 4,000
OB2AA U - 9% TF U L4884 ZA
25,000, 0002 *14! 25,000
OFZE 0l &XIBA 8,000,000 *14! 8,000
405 THaHE S| 22,400 11,833 10,567
SR TEEEEEN 22,400 11,833 10,567
OYolBAtA Matst=A)| RSFHHAFI 7
o 6,000,000 *1CH 6,000
OJHEAXA DAYRASI| 7
5,000,000 *1CH 5,000
OJI=SB2AX4 SYHSA SEHE 2
600, 000! *4CH 2,400
OMZBAXA 4 U HEM WHD
500, 000! *1CH 500
ORA4 SSUBE NSHASI 2
6,000,0002 6,000
OSTBATR A S 2,500
SoFE QU ST EE 1,000,000 *1% 1,000
-AFR A Bab 9 o X} 500,000 *1% 500
~DI2IAIO| XH(3HQIB) 1,000,000 *1% 1,000
SOHEQBMHIA HHAI(EX) 1,056,978 374,666 682,312




SN =REAL
B X APAOIB A (2A/RAR)
THol: HAA BAXL 2FBe L]
_ . ®MEC =
SA-BH - OA(B) - HRAY - BE2 Ofl &k 04 Sl ko HRz2
= 527,264
Al 529,714
401 AIEHIZ 20U 981,978 374,666 607,312
2 477,264
Al 504,714
01 Al&HI 964,407 374,666 589,741
O=7EAL 55 761,755
SIEEIEP Tl
723,720,000& *4.91/100%40% 14,214
-2 AlZ A I 723,720,000 *4.91/100%60% 21,321
-S 24l 2,500,000& 13/ 2,500
L] 723,720,002 %141 723,720
2 385,984
Al 337,736
OgdEHAZ A M= 182,652
SIEEIPEP Tl
171,150, 0008 %6..72/ 100%40% 4,601
SAALENEL 171,150,000 %6. 72/ 100+60% 6,901
—-Al& 171,150,000 * 14! 171,150
= 91,280
Al 79,870
OBH2ANL ) L AEHIIS Holyl
20,000, 0002 14} 20,000
02 Zcldl 11,778 0 11,778
O=RAL 5 L2l
723,720,000 *1.23/100 8,902
OmEEAEA UF L2l
171,150,000& x1.68/100 2,876
03 Al&=ChHI 5,793 0 5,793
O=32AL Z5 QLU
723,720,000% x0.63/100 4,560
OtEi=Az 24 HE ALY
171,150,000& x0.72/100 1,233
405 Xt&bE SHI 75,000 0 75,000
= 50,000
Al 25,000
01 MR ESF=H 75,000 0 75,000
ONSEAY B TH 7Y
75,000,000 1CH 75,000
= 50,000
A 25,000
o2 AR X 238,000 232,000 6,000
= 16,800
= 36,400
A 84,800
AR K& 168,000 162,000 6,000




SN EREAL
HE: MDA (22/2AAR)
cHel: o2 AR X

_ _ _ Muo
RA B SA(BH) - NRAY - B arol e HRE2
307 QI2H0IH 168,000 162,000 6,000
SIEEEEEN 168,000 62,000 6,000
OEAXA MBoltE 168,000
BTN, B FH,IR)
35,000, 00024 *4H 2 140,000
SXDHAF Fo S )M )
2,000, 00024 *57H 2 10,000
SBEH(EH, OIS I, 5 )
2,000, 00024 *47H 2 8,000
“HBADE (YA 195)
100,000 *20% *53] 10,000
DTRACRIIT AN (2F) 70,000 70,000 0
= 16,800
= 36,400
Al 16,800
403 THXIEHRIS XH 0] 70,000 70,000 0
= 16,800
= 36,400
Al 16,800
02 BII2HS0ICHEHCHE ARt b 70,000 70,000 0
OZZLAYRII SAAMTH(0/Y)
70,000, 00024 *17H 2 70,000
= 16,800
= 36,400
Al 16,800
ol 22 26,787 60,491 £33,704
| 834
Al 25,903
ooty 29 25,524 60,491 A 34,967
101 @24l 13,264 13,091 173
04 JIVH22HS L4 13,264 3,091 173
ORI SHE (HSSHYR) 13,264
-0l 47,8402 12 %2502 1,960
-AUEE JIBELS 11,960,000 10.9% 1,304
201 LBt Y| 9,360 16,808 AT,448
01 Attt 7,860 9,308 A1,448
O1. L8| 6,600
-DIREIX 222 R0 5002 *2,50004 %23 2,500
OISR 2 Clor® SR s40 R
50,0002 3% *43] 600
—o|2I|=HE B2 2,000,00024 2,000
DlAYEE 25 M 5002 *3,00004 1,500
O5. 22| 1,260
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B o4 A
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D ANGEHZ A (BH/EHR)

T SRE
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod i =%
oot ANl [RY ORIZSR 24
7,0002 +3% 62 103! 1,260
229yl 1,500 7,500 6,000
O1.B3ZRILHAI 1,500
—olorele PR B2 1,500,000 1,500
o1t 2,400 2,040 360
ENT 2,400 2,040 360
Oolofeis XISHA0HHI
20, 00021 28§ x321 123 1,440
Oolotl® 938 U A2DS ofY|
60,0002 x224 x2 2 x43] 960
R AHE St 500 8,552 £8,052
Y = FH S| 500 8,552 A8,052
O°ILIIZHE 5IE P 500,0002 * 1H 500
NEEENIEEEEEVEICES 1,263 0 1,263
| 884
Al 379
01201 & 1,263 0 1,263
| 884
Al 379
EEEEEN 1,263 0 1,263
OMUBRES AL (SSE) 1,263,008 1,263
| 834
Al 379
=EEREIHICEVEREY 302,323 477,840 A175,517
2 19,859
| 12,737
= 30, 153
Al 239,574
ot b s 103,288 109,936 76,648
= 3,600
Al 99,688
YHAS X2 91,268 97,936 76,648
101 @121t 42,965 49,231 76,266
04 JIZH22HS L4 42,965 49,231 6,266
OgAS oIz 36,623
-F2 37,6302 #5821 x 1802 33,867
-0k 2t 27,5602 %23 x502 2,756
OgHLSoR 2hal 2,0002! +52§ 1802 1,800
OgossoR I=y| 110,000 *5% 550
O4URE Jlp=g2 36,623, 0002 +10. 9% 3,992
sty 3,820 3,820 0
JNEET 1,120 1,120 0




S 2RRAL
I MYHRLAY(2A/2AOZ)
ol goias (Etel: &8
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
O5.2 2l 1,120
~YAAS ORA22R SA
7,0002 %22 x802 1,120
02 2Z2H| 2,700 2,700 0
O3. A ZZHIR Xl 2,700
- N RXBAH(SHSEH) 2,700
N 40,0001 *30CH 1,200
EHE 30,0002 *50CH 1,500
206 T2l 41,520 41,052 468
01 MHEH 41,520 41,052 468
OYAASAHE 29 31,800
-228 M= 35,0002 <6405 22,400
—ootg AE| 30,0002 1005 3,000
-REANE 80,0002 +80S 6,400
ogsg | 9,720
SR 1,70021%20 ¢ *1802 6,120
-8 1,50021 %60 ¢ *403] 3,600
301 LetEaa 833 833 0
10 BAAHI2AS 833 833 0
OSHE NSWAT DSTIIFO HAX SA
7,0002 7% 1774 & 833
405 THaHE S| 2,150 3,000 1850
01 XAYLSEH S| 2,150 3,000 850
OXYE WAL= 7Y 1,000,0008 +20H 2,000
OYAXYE SS(1E) 7 150,0008 =14 50
HAHCHE HRAASOHE YA (2 X) 12,000 12,000 0
= 3,600
Al 8,400
206 TH2HI 12,000 12,000 0
= 3,600
Al 8,400
01 MEH 12,000 12,000 0
OMBHH WoirsotE A 12,000
-Eeg M= 35,0002 3005 10,500
= 3,150
Al 7,350
& @R 6,250% x240S 1,500
= 450
Al 1,050
Tt e 169,236 334,104 164,868
= 19,859
p 10,337
= 25,713




SN EREAL
HE: MAHRLAY(BA/BAAR)

ootw

ool @gee (et & 2
_ _ _ Muo
SN -3H - S2A(2AH) - NRAY - BE= Off &F K Ofl At ot HusZ
A 113,327
Y 0y SEAY 61,920 61,520 400
201 Lpr2 | 3,800 3,800 0
01 AtR22lt] 3.800 3.800 0
O1. gt 48| 2,000
—EMOl B2 M 2,0002!*1,000% 2,000
O2.91= DSl 1,800
~HYYHSI ARNDE DS
1,400,000 12 1,400
“HAYASI MDY DS
400,000 *12 400
202 o1t 2,160 2,160 0
01 2UH0iHI 2,160 2,160 0
SRR EXOH 60,0008 %3 *3L x43] 2,160
206 T2l 1,200 800 400
01 T2 1,200 800 400
OJS® wILE UAE 7Y
L0002 %3005 1,200
01 YsrEA 41,260 41,260 0
01 ALSIE =463 37,560 37,560 0
OSOIRET MASZH 313,008 10 122 37,560
10 BAAHIZAS 3.700 3.700 0
OREIE L2 322y 4
7,0002 %502 %23l 700
OBUE(4B5F) ISHSHS
20,0002 *150% 3,000
307 BI2HOIF 13,500 2,500 1,000
NIEEEEETT 1,500 1,500 0
OBUHIIIS T AE L 22 7
1,500,002 * 1] 1,500
02 BIRIBAFE 2,000 1,000 1,000
OstdlE a2l Al (B2 et e =X & 3])
12,000, 00024 *17H £ 12,000
ZRuYY BEAA QBIIB N (2E) 2,940 1,560 1,380
2 1,470
= 441
Al 1,029
307 BI2HOIE 2,940 1,560 1,380
2 1,470
= 441
Al 1,029
02 BIABATE 2,940 1,560 1,380




SN EREAL
HE: MAHRLAY(BA/BAAR)

0O o
el MeH e (B9 &2

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

r

OF838 Z=ZA2712 X&

10,0003 1200 &+ 128 1,440
720
216
504
OFdZE ELZS MZHHl 125,000& 1290 2 1,500
750
225
525

= H W

=M H

MEHAUH OIZSZAIMA 22 (Ex) 2,640 2,640 0

1,320
1,320

S

in

307 2120l A 2,640 2,640 0

1,320
1,320

<

02 @l

~
O8]
0z
HL
FA

2,640 2,640 0

O
0z
Mo
o
=

OIlSZAIHHA 2gHI

220,000 10 %123 2,640
1,320
1,320

LS!

o
Py

J2t0l 22 A8 2EXJ(EX) 36,778 33,278 3,500
18,389
18,389

o

307 2120l & 36,778 33,278 3,500

18,389
18,389

SR

02 YIS ExX 36,778 33,278 3,500
LZANE 2EAEH 36,778,000& 36,778

18,389
18,389

o

AEBHLY YRS (EX) 10,000 3,400 6,600
3,000
7,000

= H

201 EHRHH| 7,000 0 7,000

2,100
4,900

=

01 At 2telt| 7,000 0 7,000
. | 7,000
—AEHSHEOY 22 2 DS 7,000,0002 7,000
2,100
4,900

=

202 O4dl 3,000 3,400 A400

900
2,100

=z H

01 =

|_
-
2
==

3,000 3,400 2400

O
>
Opt
B

g8 S WXNEFAS =T

3,000,000& 3,000




B o4 A

D SREAL
D HggaACING (Ed/BH2R)

D Agga

SH M HA(FA) - HRAE -

e

o

[
2

=2
e
J2H

=

900
2,100

=z H

1,000

300
700

1,000

202 O4dl

= H

1,000

300
700

1,000

01 =LHAOYI

OulloI=Zg o2 XEAE F&

1

O
,0

]
00,000&

= H

1,000

1,000

300
700

1,000

= mn X

11,520
5,760
2,016
3,744

10,560

960

= H X

11,520
5,760
2,016
3,744

10,560

960

120,000& 96

= mn X

11,520

11,520
5,760
2,016
3,744

10,560

960

T
0¥
=
¥
)
fu
=
T
P

= mn X

1,000
500
175
325

1,000

307 2120l &

= H X

1,000

500
175
325

1,000

4,000 250

= Y

1,000

1,000
500
175
325

1,000

p)

2,553
2,553

2,553

Jl

2,553
2,553

2,553

02 OI2FHAIE X

2,553,000&

Il

2,553

2,553
2,553

2,553
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SN EREAL
HE: MAHRLAY(BA/BAAR)

ootw

el Mg ae (649l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot Hws2
ABEZ20YE R A 38,477 0 38,477
101 Q121 5,917 0 15,917
04 JIAH2ENSE S 15,917 0 15,917
ONZOB2T (IS TE(AS A 15,917
-oIsrgy 47,840 52 *60 14,352
42 JIREYS 14,352,000 %10.9% 1,565
201 Y2 Y| 7,680 0 7,680
01 AtR22lH] 7,680 0 7,680
O1. ptegH| 6,000
“NEER 222 AMH(55)
2,000 *3, 00004 6,000
O5.22H| 1,680
SNEB2URET OFA2LX B4
7,000 *42 x602! 1,680
202 01H 2,880 0 2,880
01 2UoiH| 2,880 0 2,880
ONBEZ R0
60,0002 4% *32! 43| 2,880
206 T2l 10,600 0 10,600
01 MEHl 10,600 0 10,600
OzLSH 7Y 20,0002 *5000H 10,000
Oz4SI| MBS 3Y 60,0004 *107H 600
301 YptBAZ 1,400 0 1,400
10 BAAHIS A S 1,400 0 1,400
OXFEIZ AR 24l 7,00021 #4% *502 1,400
MloIx2AA0 S=Re(BX) 408 0 408
p 204
= 72
Al 132
202 014l 408 0 408
p 204
= 72
Al 132
01 2UoiH| 408 0 408
O00I=& X SSael FX0iHl 408,000 408
p 204
= 72
Al 132
el A 29,799 33,800 £4,001
p 2,400
= 840
Al 26,559
2ALAISE X2 25,000 28,000 £3,000




SN
X XH .
S Tt

oLk

S EIPN

dggae Mg (BA/2022)
Held At

S . "M . O (5 HEAY . N2 Al OH HEE H| =2t
207 AL Y| 25,000 20,000 5,000
03 AlEdH 24| 25,000 20,000 5,000

OgelZAt Al 2 A2F 2 25,000,000 25,000
OOl =&IEtAlE P AHI(EX) 2,992 4,000 A1,008
| 1,496
& 524
Al 972
207 A0 | 2,992 4,000 A 1,008
| 1,496
= 524
Al 972
03 A&l 2,992 4,000 A 1,008
OOl =& EAI 22 2,992,000 2,992
J| 1,496
= 524
Al 972
HY XA 2AH(BX) 1,807 1,800 7
J| 904
& 316
Al 587
207 AN Y| 1,807 1,800 7
| 904
& 316
Al 587
03 Al A 1,807 1,800 7
O&YRSHAI Y| 1,807,000& 1,807
| 904
& 316
Al 587
HY2HGH(SEREHA BA#F ) (DIEHIIE 352,426 320,746 31,680
IEAH(SEF 2HEE D) 165,960 140,560 15,400

HEelg 23| 145,200 129,600 15,600
101 14| 145,200 129,600 15,600
02 JIEt& 8=+ 145,200 129,600 15,600

OS&s2Hdz &= 145,200
-2 700,000 x7H =12 58,800
=ta PN 600,000& 12« 12& 86,400

FAME 2 10,760 10,960 A 200
203 R F&d| 10,760 10,960 A 200
01 J|22ZFRF&H| 3,300 3,300 0

OJZ22ZHdRFAH (& & 3,300,000& 3,300
02 FRIAHSF=EH| 2,480 2,560 A80
O&EJ It R =] 40,0003 x62Y 2,480
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SN 2R2AL
M AR (2PRAL SAHF DY) (OIEH/IIE)
S oSl (27 BAT D) (649l &2
_ — N e
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ
04 RASYLRET| 4,980 5,100 A120
ORNSYYLFAY| (R :43Y) 4,980
le 350,000 *122 4,200
~x 5,0008! * 13 * 122 780
JIEYH(=R 2AF D) 196,466 180, 186 16,280
= A2 32,546 31,626 920
201 Yer2g| 32,546 31,626 920
01 AtR22lt] 31,010 30,090 920
O1. e8| 16,810
“RN2Y LB gl 5,510,0002 5,510
-EN2Y FAAREY 5,800,000 5,800
~EAN L LBraH| 5,500,000 5,500
03.2%+9 5,600
-~y 50,0002 %1% +1122 5,600
O5.2 | 8,600
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